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1 {EKFE 40 41 81 8.0] 73.0 36) 1 2% = 43 46 89 8.0 81.0 71 fEA 50| 46 96 12.0 84.0 106 #2315 47 51 98 8.0/ 90.0
2 BRNIE 40 42 82| 8.0| 74.0 37 AR AR 48 41 89 8.0 81.0 72 [IAHER 52 45 97 13.0 84.0 107 &ZH T 48 51 99| 9.0/ 90.0
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4 AR 36 45 81 6.0| 75.0 39, 4 A 5R 46 44 90 9.0 81.0 74 RBUIL 50 43 93 8.0 85.0 109 R M5 46 56 102/12.0| 90.0
5 HhF—1R 41 40 81 6.0| 75.0 40 3T O A2 42 49 91 10.0 81.0 75 P L= 48| 46 94 9.0 85.0 110 BF3EFE 47 55 102/12.0/ 90.0
6 EFTA— 41 44 85/10.0 75.0 41) B B 45 46 91 10.0 81.0 76 4318 46| 48 94 9.0 85.0 111 EAEFIL 53 50 103 13. 0| 90.0
7 HH K 40 46 86 /11.0| 75.0 42| ML B2 42 50 92 11.0 81.0 77 V6 2 RER 46| 49 95 10.0 85.0 112 b1 1 44 54 98| 7.0| 91.0
8 /A Fn 39 43 82 6.0| 76.0 43| Fr s 46 48 94 13.0 81.0 78 HPE TR AR 49 47 96 11.0 85.0 113 Gy 773 47 53 100 9.0] 91.0
9 BrAE ] 43 42 85 9.0| 76.0 44| FEAWIAT 42 41 83 1.0 82.0 79 AT E I 50| 46 96 11.0 85.0 114 (L e 48 49 97 5.0] 92.0
10 #A LIt — 44 43 87/11.0 76.0 45| AP B 2% 44 43 87 5.0 82.0 SUPNINESS 45 48 93 7.0 86.0 115 KHEF5 52 49 101] 9.0] 92.0
11 BRARAD 42 47 8913.0| 76.0 46 ZHH B R 43| 44 87 5.0 82.0 81 )1 e 48| 45 93 7.0 86.0 116 [ 59 53 49 102/10.0| 92.0
12 M)l E 43 43 86 9.0| 77.0 47 SF R 5 I 45 43 88 6.0 82.0 82 [M& = 45 50 95 9.0 86.0 117 AN 49 54 103/11.0] 92.0
13 443H 34 42 47 8912.0| 77.0 48| R HRIE 42 47 89 7.0 82.0 83 (LI FH 1EA 44| 51 95 9.0 86.0 118 BOFE 53 51 104/11.0| 93.0
14 /NIET 44 45 8912.0| 77.0 49| TR 2 45 47 92 10.0 82.0 84 k& 50| 47 97 11.0 86.0 119 #iEe s 52 52 104/11.0] 93.0
15 &R 38 40 78 0.0 78.0 50| i HH B 2 45 50 95 13.0 82.0 85 /INIFEA 48 50 98 12.0 86.0 120 AN 50 53 103 9.0| 94.0
16 ‘= ik 40 41 81 3.0| 78.0 51 /)R P AR 47 48 95 13.0 82.0 86/ 14 _F1FEzZ 43| 50 93 6.0 87.0 121 % IE[E 51 53 104/10.0| 94.0
17 BERE 1 41 42 83| 5.0 78.0 52 AAARTL 42 42 84 1.0 83.0 87 VARt 47 46 93 6.0 87.0 122 BEEFFRHE 52 48 100 5.0| 95.0
18 &I # 43 41 84| 6.0 78.0 53| - H E 45 41 86 3.0 83.0 88 - H A {H 44 50 94 7.0 87.0 123 PEHER 53 53 106 11.0| 95.0
19 HkE 44 40 84 6.0] 78.0 54| g ARSEIR 47 41 88 5.0 83.0 89 T4 A HR 45| 51 96 9.0 87.0 124 MH &2 56 51 107/12.0] 95.0
20 HifFHEEST 47 43 90/12.0 78.0 55| Bk 42 46 88 5.0 83.0 90 IR EE 48 48 96 9.0 87.0 125 kS 50 58 108 13.0| 95.0
21 AAAT SRS 40 40 80 1.0| 79.0 56| i 46 43 89 6.0 83.0 91 4 ik 49 48 97 10.0 87.0 126 FEINIEAD 55 52 107/11.0| 96.0
22 #h A 45 41 86| 7.0 79.0 57| TH =& 42 48 90 7.0 83.0 92 EAELHE 49 50 99 12.0 87.0 127 AR A Gk 55 55 110 13.0| 97.0
23 PEATE 45 44 89110.0| 79.0 58 SEILE R 47 43 90 7.0 83.0 93 M 49| 51 100 13.0 87.0 128 /NEE TR 55 55 110/13.0| 97.0
24 3T HAE 44 48 92113.0| 79.0 59 14)I|12%2 45 45 90 7.0 83.0 94 i-#r i S 49| 47 96 8.0 88.0
25 fAFF R 44 41 85| 5.0 80.0 60| P57 5 50 41 91 8.0 83.0 95| 75 )11 AHE 47| 50 97 9.0 88.0
26 Bk 41 46 87 7.0/ 80.0 61| AN L 44 48 92 9.0 83.0 96 & LI IE 45| 53 98 10.0 88.0
27 PB4 42 47 89| 9.0 80.0 62 9T 44 48 92 9.0 83.0 97 ZJR{HTE 4747 94 5.0 89.0
28 KA 45 45 90/10.0| 80.0 63| - f# 48 46 94 11.0 83.0 98 Hiit-E— 52| 46 98 9.0 89.0
29 HE SR 43 48 91/11.0| 80.0 64| FEA 44 51 95 12.0 83.0 99 [f A% 45| 53 98 9.0 89.0
30 =L 46 46 92/12.0 80.0 65| H H1 k5 48 48 96 13.0 83.0 100 EHF— 50| 49 99 10.0 89.0
31 AfHE— 44 48 9212.0| 80.0 66 EZ i 45 43 88 4.0 84.0 101 7 IJAAE 52 48 100 11.0 89.0
32 WEAR SR — 47 46 9313.0| 80.0 67 A AR K 42 46 88 4.0 84.0 102 AT A 48 46 94 4.0 90.0
33 BEAREE 51 42 9313.0| 80.0 68 i FH K 47 43 90 6.0 84.0 103 iz 47 48 95 5.0 90.0
34 IAARFE ST 44 44 88 17.0] 81.0 69 & H{EE 45 46 91 7.0 84.0 104 (LA fE— 44| 51 95 5.0 90.0
35 BLARMEN 46 42 88 7.0| 81.0 70 IR E 47 49 96 12.0 84.0 105 7411 ZR1E 48| 49 97 7.0 90.0
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